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; Multiplying by 5

,»//’}‘“ Table of 4
|

Multiplication

f yultiplying by 4
| t i | ; e e table ‘
ﬁ'f;;”;{ 1x4=4 }jk4x1=4 | 1f,ve,s5 | 1x5=5[5;“‘1'"‘=”;‘”'*-§}
2foursare8 2x4=8f4x2=8 ,, 2f-|vesare1o 2x5=10 |5%2=10 Z
3foursare12 | 3x4=12/4x3=12 fl ,3f.|vesare15 3x5=15|5x3=15 \‘
4fou;sare16 ? 4x4=16 |4x4=16 | 4 fives are 20 4x5=20|5x4=20 a
5foursar620 ) 5x4= 20!4x5=20 / 5fivesare25 | 5x5=29 5x5=25 \
:{sfoursare24 6><4=24’4x6=24 6 fivesare 30 | 6x5=30 5x6=30 |
| 71ours are 28 7x4=28 |4x7=28 s vesared5 | 7x5=35|6x7=35
| g fours are 32 8x4=32|4x8=32 gfivesare 40 | 8x5=40 5x8=40
;fgfoursare36  9x4=36|4x9=36 9 fives are 45 9x5=45 5x9=45 |
l10foursare40/10x4=4o 4x10=40 ) 10 fives are 50 | 10 x 5 = 50 5x 10=50 1
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Mump,ymg by 6 v Mu,ﬁp,icaﬁdﬁ ‘ Multiplying by 7 Multiplication
: table table
15iKis 6 Y5 6-616x1=6 I1sevenié7 1x7=7|7x1=7
ssixesare 12 | 2x6=12 |6x2=12 2sevensare 14| 2x7=14 |7x2=14
BS.ixesare'ls 3x6=18 |6x3=18 3sevensare21 | 3x7=21 |7x3=21
lsilxesar924' 4%x6=2416x4=24 4sevensare 28| 4x7=28 |7x4=28
f'x933f930 5%x6=30|6x5=230 Ssevensare 35| 5x7=35|7x5=35
s.txesare_as ‘6x6=36 6x6=36 6sevensare 42| 6x7=42 |7 x6=42
i:esare42 7x6=42 |6x7=42 7/sevensare 49| 7x7 =49 7x7-.—_.49
;xee::::: Z:gj: 6x8=48‘;’ 8sevensare 56| 8 x 7 =56 | 7 x 8 = 56
sixesareg(‘, = : 4 16x9= 54 9sevensare 63| 9x7=63 |7x9=63
0 10x6=60 6x10= 60 10sevensare 70 10 x 7 = 70 7x10 70
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